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-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words
the questions of 3 marks and answer in about 150 words the questions of 5
marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.

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Write down the correct choice answer with question number from the given
four options.

CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–IV
GROUP-A
PHYSICS

1. S.I. 1
What is S.I. unit of resistivity ?

2. 1
Electric heater works on which effect of electric current ?

3. 1
Which lens form real and virtual image both ?

4. 1
What degree is vision area of two eyes for vision ?

5. 1
What is magnification of plane mirror ?

6. 2
Draw ray diagram of image of object kept on centre of curvature of convex lens.

7. 2
Define Ampere.

8. +1.5D 3
The power of lens is + 1.5D. Find focal length.

9. 3
Compare Ameter and voltmeter.

10. 5
Describe Oersted experiment.

CHEMISTRY
11. 1

Write the molecular formula of slaked lime.
12. 1

When white colour of silver chloride exposed to light than changes into which
colour ?

13. 1
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Write the name of one natural indicator for the test of acid and base ?
14. 1

Write the name of one liquid non-metal.
15. 1

How many elements in second period ?
16.

What is Redox reaction ? Give one example.
17. pH PH 2

What is PH scale ? Write the PH value of blood.
18. IUPAC — 3

Write IUPAC name of the following
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19. 3
How modern periodic table is better than Mendeleev's periodic table. Give
three reasions.

20.
What is Corrosion ? Give one example of it. Also give three methods for
preventing corrosion.

BIOLOGY
21. 1

Which element is necessary for the synthesis of thyroxine ?
22. 1

Fish respires by which respiratory organ ?
23. 1

Which chemical is responsible for depletion of ozone layer ?
24. 1

Who gave ‘Origin of species by Natural selection’ ?
25. 1

Give one example for chemotopism in plants.
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26. 2
Name the hormone secreted by pancreas and write its function.

27. 2
Write any two problems caused by large dam.

28. 3
What is pollination ? Explain self pollination and cross pollination with
example.

29. 3
By an experiment show that chlorophyll is necessary for photosynthesis.

30. 5
Draw a well labelled diagram of nephron.

31.
(GROUP-B)

PHYSICS
(i) — 1

(A) (B)
(C) (D)
Electric motor converts
(A) mechanical energy into electrical energy (B)
Electrical energy into mechanical energy
(C) Chemical energy into electrical energy (D)
Electrical energy into chemical energy

(ii) 1
(A) (B)
(C) (D)
Live wire is generally
(A) of green colour (B) of red colour
(C) of black colour (D) of light colour

(iii)
1

(A) (B)
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(C) (D)
Which element is used in filament of electric bulb ?
(A) Tungsten (B) Copper
(C) Nicrome (D) Zink

(iv) 1
(A) (B)
(C) (D)
Walt-hour is unit
(A) of charge (B) of current
(C) of power (D) of energy

(v) 1
(A) 6 (B) 4
(C) 5 (D) 3
How many faces of a simple prism is bounded—
(A) 6 (B) 4
(C) 5 (D) 3

(vi) 50 cm 1
(A) + 2 (B) –2 
(C) + 5 (D) –5 
Focal length of a concave lens is 50 cm. Its power will be
(A) + 2 Dioptre (B) –2 Dioptre
(C) + 5 Dioptre (D) –5 Dipotre

(vii)
1
(A) (B)
(C) (D)
The image of object is always same, The mirror will be
(A) convex (B) concave
(C) plane (D) plane or convex

CHEMISTRY
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(viii) 1
(A) 1 : 1 (B) 2 : 1
(C) 3 : 1 (D) 2 : 2
The ratio of atomic numbers of hydrogen and oxygen in water is
(A) 1 : 1 (B) 2 : 1
(C) 3 : 1 (D) 2 : 2

(ix) 1
(A) CnH2n + 2 (B) CnH2n + 1
(C) CnH2n (D) CnH2n-2
General formula of Alkyne is
(A) CnH2n + 2 (B) CnH2n+1
(C) CnH2n (D) CnH2n-2

(x) 1
(A) 23 (B) 26
(C) 25 (D) 24
Atomic number of Iron is—
(A) 23 (B) 26
(C) 25 (D) 24

(xi) 1
(A) NaOH (B) NaCl
(C) Na2CO3 (D) NaHCO3
Which compound of sodium is used to convert hard water into soft water ?
(A) NaOH (B) NaCl
(C) Na2CO3 (D) NaHCO3

(xii) 1
(A) (B)
(C) (D)
Which non-metal is good conductor of electricity ?
(A) Sulphur (B) Graphite
(C) Chlorine (D) Phosphrous
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(xiii) 1
(A) pH = 3 (B) pH = 10
(C) pH = 8 (D) pH = 9
Which of the following is acidic ?
(A) pH = 3 (B) pH = 10
(C) pH = 8 (D) pH = 9

(xiv) 1
CaCO3 CaO + CO2
(A) (B)
(C) (D)
Which type of following chemical reaction ?
(A) Displacement (B) Combination
(C) Decomposition (D) Double-displacement

BIOLOGY
(xv) 1

(A) (B)
(C) (D)
The largest gland of human body is
(A) liver (B) Pancreas
(C) Ovary (D) Adrenal

(xvi) 1
(A) (B)
(C) (D)
Which part of plant shows positive geotopism ?
(A) roots (B) stem
(C) leaves (D) flowers

(xvii) 1
(A) (B)
(C) (D)
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Which one is not a part of human female uproductive systerm.
(A) Ovary (B) Uterus
(C) Sperm (D) Fallopian tube

(xviii) 1
(A) (B)
(C) (D)
Magnesium is found in—
(A) Chlorophyll (B) R.B.C.
(C) Chloroplast (D) W.B.C.

(xix) 1
(A) (B)
(C) (D)
‘Kulh’ is a local canal irrigation system present in which state ?
(A) Bihar (B) Himachal Pradesh
(C) Punjab (D) Uttar Pradesh

(xx) 1
(A) (B)
(C) (D)
Stomata is where present in Hydrilla plant.
(A) On leaves (B) On leaves
(C) On leaves & stem both (D) None of above


